
McCall, Betsy

Math 1L49, Exam #L, Fall  2013 Name

Instructions: show at work, Use exact varues unress specif icai ly a

1. Draw the angle -2vf3 in standard posit ion. (4 points)

Find the area of t [e sector of the circ le shown below, with a

3' Find the varues of the other f ive tr igonometric functions, given

4q-s = 4. t
2rm Uqq = ,Jr .fii
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4.  F ind the va lue of  the s ine of  30" . (3 points)

Sin 30"

5. Simplify the exprpssion sec 3So csc 55o _ tan 35o cot 55" (3

Find the exact valye of the expressions, (4 points each)
a, sec, li) _ +

G ) - n =  [ - +  =
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1, + tan230. 
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r  i - zC o I = l = -7s
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7 . Use your calculator to approximate the / n \vatue ot cot (;J. Rou

* 5--,67 |
)

A. guy wire is attqched to the top of a 435m tower and to theThe angle that the wire makes with the ground is 7g.4o. Howtower is the wire attached to the grornJ? (g points)

-2
+-

+- +B,qo = e

X = tfls
ftr,^"?f,A

nn

9 . The terminal side gf an angle in standard posit ion passes thro
varues ot the six tr igonometric functions of the angle, (12 poi
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to 3 decimal places, (2 points)

a certain distance away,
away from the center of the

* 81, J1 rn

the point (-2,- I) .  Find the
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10. Find the reference angle for each of the given
a . y- Y 1

b' 3eo' 
6o"

c ,  - L g T. 6 V d

b. tan(3eo") s :L in el
rJ3

c, .'.(*T) F cscf tY.)

a

12. Use reference anglps to f ind the exact value of ta

lilt' ftoo = 'rfit*(40")
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1 .3 .  G iven tha t tan  0  =2  and s i .n0  l -0 ,  f ind  the  exac tva lues  o f t
funct ions, SketCh a graph of the angle in standard posit ion, (

+ r + Stn *\ i2 Cl

S r n $ =  €s
Cos Q= 

-J
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*rr'^ g = 2
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C-o+Q = 3'

&r{-Q =

CSc  9
14. Answer each of t le fol lowing questions, (3 points each),

a. For what valups is tan g not defined?

s rne ,@,h@,

"+A 
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b Vt

$ =

b, What is the ra{rge of the cosine function?

L- t, tl

c, Which of the six tr igonometr ic funct ions are odd?
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remaining 5 tr igonometric
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15,
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the fol lowing expressions. (3tt f (x) = tanff, and f (a)
points  each) ,
a .  f ( - a )  =  - {

b .  f ( a ) + f ( a + r c )  =

-f6.)-t fG\ =

= 2, f ind the exact values of each

(*-)= - 1

&+)- = t
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